Please read this page first.
Here are my notes for the course on Byzantine failures (December 3, 2018).

What is important:

- The concept of Byzantine failure

- Safety proof, Liveness proof

- Proof by induction, proof by contradiction

- The first example (called "Simple example: n intermediary nodes")

The next example ("General case: (2k+1)-connected graph") is "bonus", no
need to memorize it. This is just to give you an example of "more complex
proof" involving Byzantine failures.

You will find the end of the Safety proof (not finished during the course) in this
document.

You can try to do the Liveness proof as an exercise if you want (a little bit
long, but more straightforward).

About the exercise of the previous course ("Infinite grid"): this is also "bonus",
but if you are interested, you can find the end of the solution here:

https://drive.google.com/file/d/1jM-KmP80M-
0Sg3MmzegYqSUSBT1NvC_M/view?usp=sharing

(To download the pdf :)



https://drive.google.com/file/d/1jM-KmP80M-0Sg3MmzegYq5U5BT1NvC_M/view?usp=sharing
https://drive.google.com/file/d/1jM-KmP80M-0Sg3MmzegYq5U5BT1NvC_M/view?usp=sharing

| ALGP
Prelimimanies
heiu-gz

Let k be such that n > 2k
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